KEFE-TFT/KEFHAPR FAGLETAER %2 ®IE 072-783-1601

KEHER—2HA [EBEBK] CER 181 HLYEA)
o & e = # &
i ExHE F1ER F2 FIEE FA FE5E F O E7ER
13 mm 820 @ |1m’~20m® |21m’~30m® |31n’~40m® |41m’~60m® |61m’~80m® |81m’~100m?®|101m’~
20 mm 1,040 @ [1miiz2E  |1mizo2x [1nlizoE |Imiizoz  |1mizoE  |1ndicoz  |1mizoz
25 mm 1,380 [ 35 M 135 [ 155 [ 175 [ 185 [ 195 [ 210 M
40 mm 11,800 [
50 mm 23200 @ | 1m® 201 401 601m’ 1,001’ 2,001
75 mm 54,400 [ ~ ~ ~ ~ ~ ~
100 mm 90,000 M 200m’” 400t 600m’ 1,000n7° 2,000m’”
125mm | 108,600 M
150mm | 132000 @ |1milz2E  [1miz2ZE  [1miz2E  |1miiz2E  [1nmdiz2oZE  |1mizoz
200 mm | 194,200 [ 190 [ 200 M 210 M 220 M 235 { 250 M
250 mm | 249,400 [
B B B |[tuogofius 1m’lzoE 60 M
- 1m°~20m’l%., 1m’lzo= 35 H
HREER 420 H 21m’~ [, 1milzo% 115 [
B OB A 1M’z DE 530 [
X LEROKEHERIE HEBRIIMESNTBYELA,
FTAEFERANER—2HA CEEBIER] (FR23EE6/I£YiER)
' 7 'R £
HAFERAH ®t 2 F B #
1m’ ~ 20m’ 1mizDE 8H
21m’ ~ 60m’ TmizoE 90 [
6lnd’ ~ 100m° Tmizo% 102 [
—f&EK 1,180 101 ~ 40007 1mizoE 120 M@
401" ~ 2,000m’ 1mizoE 137 H
2, 001m® ~ 20,000 1M’z 153 M
20, 001m® ~ 1mizDE 168 [
NERIBIFHK | 600m’E 10,000 601m° ~ 1mizoE 33 M

X EROTKERRHERE. BRBIMASNTEYERA.
HEHEERX—25A (OF20mm) (FAEHERARIE—85KA) DEEBA]

£ B K & XK E H £ T K & &F A #
20m° LIF (35 x 7KE+1,040M) x 1,10 (8 x 7k=+1,180M) % 1.10
21m® ~ 30m°> (135 x 7k &—960M) x 1.10
31m° ~ 40m° (155 x k& —1,560) % 1.10 (90 x )K= —460M ) X 1.10
4m® ~ 60m° (1750 x /K& —2,360/) % 1.10
61m° ~  80m° (185F x 7K & —2,960M) % 1.10 -
102 x JKE—1,180M ) x 1.10
81m® ~  100m° (195 x JK & —3,760M) % 1.10 (102F3 X k& F)
101m® ~  400m° (120M x 7k &—2,980M ) x 1.10
401m° ~ 2,000m® - (137 x 7k &—9,780M ) x 1.10
: 210 x 7K & —5,260) x 1.10 =
2,001m°® ~ 20,000m° (10F KR ") (153 x k& —41,780 ) x 1.10
20,001m° LIk (168 x JK & —341,780M ) x 1.10

(&6l ] (FERAKENBM’ OBE) LERERXTHELES. 41~60m’OERICHTIEHET,
®KERE = (175M % 43m>—2,360M) X 1.10=5681F ------ (1)
& TAKEFEAR = (90M X 43m®— 460) X 1.10=3,751F -+ (2)
SEt€%E =(1)+(2)=9432M
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FRATETKERFAEDRARMBICHOEEREIRAVLE, BAREFAT LTKERBTISHEYL=12{H, X(E
OEREZCHFEOMBREMMBEAEDNBOTEREZL T3V 46, EMBBAF OB O TFEHRELZSIDIB S,
EMBEAFOEENILIKEOEERESNLMSIEROKERSFORMELLE) IZTHSEI.




LE-TKEFRHEE BRREF—2HA (OF20mm) HERHA]

(HErkE=m’-HE=H)

KE |KkEse {‘;;{;ﬁ axtem| | kg | xEne ;gﬁ asxtem| | ke |xane ;;{;ﬁ aiteE
0 1,144 1,298 2,442 40 5,104 3,454 8,558 80 13,024 7678 20,702
1 1,182 1,30 2,488 41 5,296 3,553 8,849] 81 13,238 7,790| 21,028
2 1,221 1,315 2,636 42 5,489 3,652, 9,141 82 13,453 7,902 21,355
3 1,259 1,32 2,683 43 5,681 3,751, 9,432 83 13,667 8,014 21,681
4 1,298 1,333 2,631 44 5,874 3,85 9,724 &4 13,882 8,12 22,008
5 1,336 1,342 2,678 45 6,066 3,943' 10,015 85 14,096 8,23 22,335
6 1,375 1,35 2,725 46 6,259 4,048I 10,307 86 14,311 8,351 22,662
7 1,413 1,35 2,772 47 6,451 4,147 10,598 87 14,525 8,46 22,988
8 1,452 1,36 2,820] 48 6,644 4,24§| 10,890] 88 14,740 8,57 23,315
9 1,490 1,377} 2,867 49 6,336 4,34 11,181 89 14,954 8,687 23,641

10 1,529 1,386] 2,915 50 7,029 4444 11,473 90 15,169 8,800 23,969]
11 1,567 1,394 2,961 51 7,221 45431 11,764 91 15,383 8912 24,295
12 1,606 1,403 3,009] 52 7414 46421 12,056 92 15,598 9,024 24,622
13 1,644 1,412 3,056 53 7,606 4741 12,347 93 15,812 9,13 24,948
14 1,683 1,421 3,104 54 7,799 4,84 12,639' 94 16,027 9,24, 25,275
15 1,721 1,430 3,151 55 7,991 4,933' 12,930 95 16,241 9,361 25,602
16 1,760 1,438| 3,198 56 8,184 5,03 13,222 96 16,456 9,47 25,929|
17 1,798 1,447} 3,245 57 8,376 5,13 13,5613 97 16,670 9,58 26,255
18 1,837 1,45 3,293 58 8,569 5,23 13,805 98 16,885 9,697 26,582
19 1,875 1,46§I 3,340] 59 8,761 5,33 14,096 99 17,099 9,80 26,908
20 1,914 1,47 3,388 60 8,954 5,43 14,388 100 17,314 9,922 27,236
21 2,062 1,573 3,635 61 9,157 5,54 14,703 101 17,5451 10,05 27,599
22 2,211 1,672 3,883 62 9,361 5,65 15,019 | 102 17,776 10,18 277,962
23 2,359 1,771 4,130] 63 9,564 5,77 15,334 103 18,007 10,31 28,325
24 2,508 1,87 4,378 64 9,768 5882 15,6560] | 104 18,238 10,450 28,688
25 2,656 1,96 4,625 65 9,971 5,995 15,966 105 18,469 10,582 29,051
26 2,805 2,06 4,873 66 10,175 6,107 16,282 106 18,700 10,71 29,414
27 2,953 2,16 5,120] 67 10,378 6,219 16,597 107 18,931 10,84 29,777
28 3,102 2,26 5,368 68 10,582 6,331 16,913 108 19,162 10,97 30,140
29 3,250 2,365 5,615 69 10,785 6,44 17,228 109 19,393 11,110 30,503
30 3,399 2,46 5,863 70 10,989 6,552| 17,545 110 19,624 11,242 30,866
31 3,569 2,563 6,132 71 11,192 6,66(8)| 17,860 111 19,855 11,37 31,229]
32 3,740 2,662 6,402 72 11,396 6,78 18,176 112 20,086 11,50 31,592
33 3,910 2,761 6,671 73 11,599 6,892 18491 113 20,317 11,63 31,955
34 4,081 2,86 6,941 74 11,803 7,004 18,807 114 20,548] 11,770[ 32,318
35 4,251 2,95 7,210] 75 12,006 7,117 19,123 115 20,7791 11,902 32,681
36 4,422 3,05 7,480 76 12,210 7,229 19,439 116 21,010 12,03 33,044
37 4,592 3,15 7,749 77 12,413 7,341 19,754 117 21,241 12,16 33,407
38 4,763 3,25 8,019 78 12,617 7,45 20,070 118 21,472 12,29 33,770
39 4,933 3,355 8,288 79 12,820 7,56§| 20,385 119 21,703 12430 34,133
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AZ40mmil E
KEHEHRERR—2hA DHEBA]
f A K & K B # =% A—=m-OF| HEEE
200m’ AR (190M x K& +EAEL)x1. 10 40 nm| 11,800 M
201 n® ~ 400 ¥ |(200M xkE— 2, 000F+EA$£) x1. 10 50 mm 23,200 M
401 n? ~ 600 1’ (210M xkE— 6, 000 +EAHE) x1. 10 75 mm 54,400 M
601 | ~ 1,000 py? (220 x KE—12, 000 +HEXHL) x1. 10 100 mm 90,000 M
1,001 nf ~ 2,000 1’ (235M x /KE—27, 000 +EAHL) x1. 10 125 mm| 108,600 F
2,001m’LLE (250M x /KB —57, 000H +HAHE) x1. 10 150 mm| 132,000 M
X EAHLEIREROLEEYTT, 200 mm| 194,200 M
250 mm| 249400 H
TRKEHESHRERAKX—2h8 (—&FKAH) [HERBA]
F A K 2 A #H
20m°LLF ( sMAxkE+ 1,180M)x1.10
21 nf ~ 60 ( 90M x KE— 460M) x1. 10
6lm® ~ 100 (102 xk&— 1, 180M) x1. 10
101 n® ~ 400 1y’ (120M xk&— 2, 980M)x1.10
401 n® ~ 2,000 m’ (137Mxk&— 9, 780M)x1.10
2,001 i ~ 20,000 ny’ (153M xkE— 41, 780M) x 1. 10
20,001m°LL E (168 x KE—341, 780M) x 1. 10
(5t&H| ] A—4—AOFAS0mTHERAKEMNIAEM’ DB, FRREXTHELET.
¢ KEHE = (200 X 345m®—2,000M +23,200M) x 1.10=99,220M - - - (1)
& TAKEMERAE = (120 x 345m°>— 2,980[) x 1.10=42,262 - - - (2)
B5t&EE=1)+(2)=141,482H
FA—REH (250A)
KEHE DHEEFA] TAKEFERE DEERA]
EAHE X FH-A AR X B
EIR HEHES=( 20m*’xFH) x 35[--B EIR REEAR=(  20m’xBH) x 8M-2
EORE HEHES=( 10m>’x F#) x 135[-----C EoRR REEBFEAM=( 40m’xF#) x 903
HEI% HENE=( 10m’x F#) x 155D EA HEEEAE=(  40m’XxFE) X 1024
EARE REHE=( 20m°’X FH) X 175[+E B4R GEEHEAM=( 300m>x FH) x 120[-+----5
H5 REEHE=( 20m’x FH) X 185M-----F HE5E ERHEAR=( 1,600m’x FH) X 137[M----6
H6EY HEEHE=( 20m’x FH) x 195[---G R (EEMAR = (18000m®x FH) X 153[-+++7
EIR HENE=10m’x FH)ZBZ 25 DKE X 210[----H EIE EEHEAR=(20000m°x FH)EBZ S5 DKE x 16818
KiE# €= (A+B+C+D+E+F+G+H) x1.10 TKEEA#H=(1+2+3+4+5+6+7+8) x1.10
[AHEH] F107. BEAKEM6156M DBA
KEHE CHERR) TKEFERAR CHERIA)
820M x 10/ = 8,200[:--:--- A 1,180 X 108 = 11,800 --erereree-- 1
(20m®x 10F) x 35/= 7,000/-----B (20m®x 10F) x 8F = 1,600/-+-2
(10m®x 10/7) x 135/ =13,500F4-++*-C (40m>*x 10[F) X 90Fg = 36,000/ ----3
(10m®*x 10F) x 155/ =15,500/9----- D 15m®x 102 = 1,530+ 4
(20m®x 10/) x 175/ =35,000/4*----E
15m®x 185/ =2,775-++--F
JKE L = (A+B+C+D+E+F) X 1.10=90,172H TAKEFERE=(1+2+3+4) x1.10=56,023
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KBRS -THKEFHAEE @PAHmLTAES 228 B|E  072-783-1601

KEHEER—1HA DEEBR] (CeEREmMst1hAREDBE] (ER18EE1HKLYER)
a #£ fiE = 1 ES
ma | EFNE o p T gom | Bom [ 248 | Bok | BoB | BB
13 mm 410 |1~ 10m® [11m’~ 15m3[ 16m°~ 20m?|21m’~ 30m?| 311’ ~ 40m®| 41’ ~ 50m® |51~
20 mm 520  [1mizo% |1miizo% |[1miz2E |1miz2E [1mizoZE [1mizoZx |1nmiizoz
25 mm 690 H 35 M 135 A 155 [ 175 A 185 M 195 [ 210 A
40 mm 5,900 M
50 mm 11,600 @ | 1 101nt’ 201’ 301nt’ 501’ 1,001n?’
75 mm 27,200 M ~ ~ ~ ~ ~ ~
100 mm 45,000 M 100m7 200m 300m® 500nt’|  1,000m’
125 mm 54,300 M
150 mm 66,000 H |1miz2Z [1mizoZE [1mizoZ [1mizo% |1n’lzo% |1mizD%
200 mm 97,100 M 190 M 200 [ 210 M 220 [ 235 [ 250 [
250 mm 124,700 M
5 B A |Luogofxps 1mizo= 60 M
- Im’~10m’l&. 1m’lcoE 35 M
HARER 210 11m’~ (&, Im’=DE 115 [
N 1mizo& 530 [
X LEREOKEHEREEERIEIMESNTEYELA,
TAREFEFRHE—1HA CHEFIK] (ERR23EE6 ALY ERA)
B R & \ A #
HAERR #t = F A #®
1’ ~ 10n® 1m’ZDE 8 M
11’ ~ 30m’ 1mizDE 90 M
31m’ ~ 50m’ 1miDE 102 M
—f&EK 590 51n’ ~ 200m’ 1mizDE 120 M
201m® ~ 1,000’ 1mizD&E 137 H
1,001m® ~ 10,000m® 1mizDE 153 [
10,001’ ~ 1mizDE 168 M
PERBHE K| 300n’E 5,000 301m’ ~ 1m’lzDE 33 [

X IROTKERRARL. BRREMESNCBYFEA,
HEHEEREX— 108 (OF20mm) (KBS AR IE—5KA) [Jﬁﬁﬁ&ﬂ]

® B K = K & B = T K& & B o

10 BT (35 x /K= +520M) % 1.10 (8 x 7k & +590M) x 1.10

11 ~ 15 m (135 x 7KZ—480M) x 1.10

16 i ~ 20 '’ (155 x 7KZ—780M) x 1.10 (90 x 7k&—230M ) x 1.10

9 nd ~ 30 of (175 x JKZ —1,180M) X 1.10

3luo’ ~ 40 n? (185F) x 7K & —1,480M) X 1.10 =

41 n? ~ 50 nt’ (195 x 7k&= —1,880M) x 1.10 (102F3 X JK & —590F3 ) x 1.10

5l m’ ~ 200 nf (120 x 7KE—1,490M ) x1.10
201 i’ ~ 1,000 n? =_ (137 x K& —4,890M ) x 1.10
1,001 ¥ ~ 10,000 n? (21079 x k& —2,630F) x1.10 (153 x 7k=—20,890M ) x 1.10
10,001 n¥ KLE (168 x 7K & —170,890H ) X 1.10

(&6 ] (FERKEHN2IM’DIFE) LREEXTHELES, 21~30m’DERIZHTIHHET,
okEHE = (1758 x 21m°—1,180) x 1.10=2,744F ----- (1)
& TAEFERE =(90M x21m°— 230M) X 1.10=1,826F] ------ (2)
SitE% =(1)+(2)=4,570H
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